Samostatná práce, 30. 3. – 3. 4.

[bookmark: _GoBack][image: ]Vypočítej část celku.

14 =

 64 =

 25 =

 32 =

 18 =

 30 =

 27 =

 14 =

 21 =

 56 =
 12 =
 24 =
 40 =
35 =
25 =
image3.wmf
z

8

7


oleObject2.bin

image4.wmf
z

5

3


oleObject3.bin

image5.wmf
z

4

7


oleObject4.bin

image6.wmf
z

3

2


oleObject5.bin

image7.wmf
z

6

5


oleObject6.bin

image8.wmf
z

9

3


oleObject7.bin

image9.wmf
z

2

1


oleObject8.bin

image10.wmf
z

7

6


oleObject9.bin

image11.wmf
z

8

5


oleObject10.bin

image1.png




image2.wmf
z

7

4


oleObject1.bin

